
TEST	
  ISOMERI	
  

CULTURA	
  GENERALE	
  

1) La	
  Rivoluzione	
  d’Ottobre	
  è	
  avvenuta	
  nel	
  
a) 1922.	
  
b) 1917.	
  
c) 1900.	
  

	
  	
  	
  	
  	
  2)	
  	
  Quali	
  dei	
  seguenti	
  Stati	
  fanno	
  parte	
  della	
  Penisola	
  Iberica?	
  
a)	
  Spagna	
  e	
  Gibilterra.	
   	
  
b)	
  Spagna,	
  Paesi	
  Baschi	
  e	
  Portogallo.	
  	
  	
  
c)	
  Spagna	
  e	
  Portogallo.	
  

	
  
3) La	
  capitale	
  della	
  Romania	
  è	
  

a)	
  Bucarest.	
  	
   	
  
b)	
  Budapest.	
   	
   	
  
c)	
  Varsavia.	
  
	
  

4) Quale	
  di	
  questi	
  termini	
  indica	
  un	
  genere	
  letterario?	
  
a) Metempsicosi.	
   	
  
b) Futurismo.	
  	
   	
  
c) Science	
  Fiction.	
  

	
  
5) L’Ile-­‐de-­‐France	
  è:	
  

a) Un’isola.	
  	
  
b) un	
  monumento.	
  
c) una	
  Regione.	
  

	
  	
  
6) La	
  lingua	
  Polacca	
  appartiene	
  al	
  gruppo	
  linguistico:	
  

a) Romanzo.	
  
b) Slavo.	
   	
  
c) Baltico.	
  

	
  
7) Quale	
  dei	
  seguenti	
  uomini	
  politici	
  non	
  è	
  stato	
  assassinato:	
  

a) John	
  Fitzgerald	
  Kennedy.	
   	
  
b) Martin	
  Luther	
  King.	
  
c) Ronald	
  Reagan.	
  

	
  



8) Il	
  	
  Regno	
  Unito	
  è	
  costituito	
  da:	
  
a) Inghilterra,	
  Scozia,	
  Galles	
  e	
  Irlanda	
  del	
  Nord.	
   	
  
b) Inghilterra,	
  Scozia	
  e	
  Galles.	
   	
  
c) Inghilterra,	
  Scozia,	
  Galles	
  e	
  Irlanda.	
  

	
  	
  	
  	
  	
  9)	
  Chi	
  è	
  l’attuale	
  Presidente	
  del	
  Governo	
  Spagnolo?	
  
a)	
  José	
  Marìa	
  Aznar	
  López.	
  	
   	
  
b)	
  José	
  Luis	
  Rodriguez	
  Zapatero	
  .	
  
c)	
  Juan	
  Carlos	
  I.	
   	
  	
  
	
  

	
  	
  	
  10)	
  Quali	
  di	
  questi	
  strumenti	
  	
  non	
  appartiene	
  alla	
  famiglia	
  degli	
  ‘archi’?	
  
a)	
  ottavino.	
  	
  
b)	
  contrabbasso.	
   	
  
c)	
  violino.	
   	
  
d)	
  viola	
  da	
  gamba.	
  
	
  

	
  	
  	
  11)	
  Qual	
  è	
  la	
  carica	
  ecclesiastica	
  più	
  alta	
  della	
  Chiesa	
  d’Inghilterra?	
  
a)	
  l’Arcivescovo	
  di	
  York.	
   	
   	
  
b)	
  l’Arcivescovo	
  di	
  Londra.	
   	
  
c)	
  l’Arcivescovo	
  di	
  Canterbury.	
  
	
  

	
  	
  	
  12)	
  L’inglese	
  è	
  una	
  lingua:	
  	
  
a)	
  germanica.	
   	
  
b)	
  romanza.	
  
c)	
  ugro-­‐finnica.	
  
	
  

	
  	
  	
  13)	
  Quale	
  dei	
  seguenti	
  romanzi	
  non	
  è	
  stato	
  composto	
  da	
  Charles	
  Dickens:	
  
a)	
  David	
  Copperfield.	
   	
  
b)	
  Robinson	
  Crusoe.	
   	
  
c)	
  Oliver	
  Twist.	
  
	
  

	
  	
  	
  14)	
  La	
  Rivoluzione	
  Francese	
  ha	
  introdotto:	
  
a)	
  l’illuminazione	
  elettrica.	
  
b)	
  il	
  sistema	
  decimale.	
   	
  
c)	
  la	
  psicologia	
  sperimentale.	
  
	
  

	
  	
  	
  15)	
  Da	
  quale	
  popolo	
  la	
  Francia	
  era	
  abitata	
  prima	
  dell’invasione	
  romana?	
  
a)	
  i	
  Franchi.	
   	
  
b)	
  i	
  Celti.	
  	
  
c)	
  i	
  Goti.	
  
	
  



	
  	
  	
  16)	
  Quale	
  fiume	
  segna	
  la	
  frontiera	
  tra	
  Francia	
  e	
  Germania?	
  
a)	
  la	
  Senna.	
   	
  
b)	
  il	
  Rodano.	
   	
  
c)	
  il	
  Reno.	
  
	
  

	
  	
  	
  17)	
  I	
  bombardamenti	
  atomici	
  su	
  Hiroshima	
  e	
  Nagasaki	
  furono	
  operati	
  nell’anno	
  	
  
a)	
  1944.	
  
b)	
  1915.	
  	
  
c)	
  1945.	
   	
  
d)	
  1948.	
  
	
  

	
  	
  	
  18)	
  In	
  quali	
  anni	
  e	
  per	
  quale	
  Pontefice	
  Michelangelo	
  realizza	
  la	
  volta	
  della	
  Cappella	
  
	
  	
  	
  	
  	
  	
  	
  	
  Sistina?	
  

a)	
  tra	
  1508	
  e	
  1512	
  per	
  Papa	
  Giulio	
  II.	
  	
  
b)	
  tra	
  	
  1500	
  e	
  1506	
  per	
  Papa	
  Leone	
  X.	
  	
   	
  
c)	
  tra	
  1506	
  e	
  1515	
  per	
  Papa	
  Sisto	
  IV.	
  

	
  
	
  	
  	
  19)	
  Il	
  Romanticismo	
  è	
  un	
  fenomeno	
  culturale	
  che	
  si	
  sviluppa	
  

a)	
  tra	
  ‘800	
  e	
  ‘900.	
   	
  
	
   b)	
  tra	
  ‘600	
  e	
  ‘700.	
   	
  
	
   c)	
  tra	
  ‘700	
  e	
  ‘800.	
  
	
  
	
  	
  	
  20)	
  Nell’Impero	
  Russo	
  regnavano:	
  	
  

a)	
  gli	
  Asburgo.	
   	
  
b)	
  i	
  Borboni.	
  
c)	
  i	
  Romanovy.	
  
	
  

	
  

COMPETENZE	
  LINGUISTICO-­‐COGNITIVE	
  

21)	
  	
  Quali	
  delle	
  seguenti	
  frasi	
  contiene	
  un	
  errore?	
  
a) Fu	
  condannato	
  per	
  aver	
  sparato	
  il	
  suo	
  aggressore	
  
b) Non	
  si	
  accorse	
  che	
  stava	
  iniziando	
  a	
  piovere	
  
c) Ammesso	
  che	
  io	
  gli	
  creda,	
  non	
  può	
  dimostrare	
  di	
  essere	
  innocente.	
  

	
  
22)	
  Una	
  di	
  queste	
  frasi	
  è	
  sicuramente	
  errata:	
  

a) Ha	
  riuscito	
  a	
  rinviare	
  la	
  data	
  della	
  partenza;	
  
b) Aveva	
  collezionato	
  una	
  vera	
  e	
  propria	
  sfilza	
  di	
  errori;	
  
c) Il	
  malfattore	
  era	
  ricorso	
  alla	
  violenza	
  contro	
  un	
  povero	
  vecchio.	
  

	
  



23)	
  	
  “Domani	
  andrò	
  a	
  iscrivermi	
  all’Università”.	
  Il	
  verbo	
  andrò	
  	
  è:	
  
a) transitivo	
  
b) intransitivo	
  
c) riflessivo	
  

	
  
24)	
  	
  Indicare	
  la	
  frase	
  sicuramente	
  non	
  corretta:	
  

a) Ieri	
  sono	
  andato	
  al	
  cinema.	
  
b) Mio	
  fratello	
  è	
  andato	
  dal	
  medico;	
  
c) Domani	
  andiamo	
  a	
  nonna.	
  

	
  
25)	
  	
  Quale	
  di	
  queste	
  parole	
  è	
  un	
  trittongo?	
  

a) guai	
  
b) maglia	
  
c) sella	
  

	
  
26)	
  	
  Indicate	
  l’espressione	
  corretta:	
  

a) Sii	
  calmo,	
  ti	
  prego.	
  
b) Sia	
  calmo,	
  ti	
  prego.	
  
c) State	
  calmo,	
  ti	
  prego.	
  

	
  
27)	
  Nelle	
  seguenti	
  formule	
  di	
  saluto	
  epistolare	
  scegliere	
  quella	
  di	
  carattere	
  
formale:	
  

a) Arrivederci.	
  
b) A	
  presto.	
  
c) Distinti	
  saluti.	
  

	
  
28)	
  “Ho	
  visto	
  sul	
  giornale	
  una	
  notizia	
  che	
  ti	
  potrebbe	
  interessare”.	
  Nella	
  
dipendente	
  il	
  pronome	
  relativo	
  ha	
  funzione	
  di:	
  	
  

a) Soggetto.	
  
b) Complemento	
  oggetto.	
  
c) Complemento	
  di	
  termine.	
  

	
  
29)	
  In	
  quale	
  caso	
  si	
  trova	
  la	
  parola	
  Dei,	
  nell’espressione	
  Mater	
  Dei?	
  

a) Nominativo,	
  perché	
  è	
  soggetto.	
  
b) Genitivo,	
  perché	
  è	
  complemento	
  di	
  specificazione.	
  
c) Accusativo,	
  perché	
  è	
  complemento	
  oggetto.	
  

	
  
	
  
	
  
	
  
	
  



30)	
  “Iridescente”	
  indica:	
  
a) Un	
  particolare	
  colore	
  degli	
  occhi.	
  
b) Il	
  momento	
  che	
  anticipa	
  l’arcobaleno.	
  
c) Una	
  policromia	
  con	
  riflessi	
  cangianti.	
  
d) Una	
  tinta	
  fra	
  il	
  magenta	
  e	
  l’indaco.	
  

	
  
31)	
  “Non	
  mi	
  fu	
  detta	
  tutta	
  la	
  verità”.	
  Il	
  soggetto	
  della	
  frase	
  è:	
  

a) Sottinteso.	
  
b) La	
  verità.	
  
c) Io.	
  

	
  
32)	
  Indicate	
  la	
  forma	
  corretta:	
  

a) Tu	
  dici	
  che	
  io	
  sbaglio.	
  
b) Tu	
  dici	
  che	
  io	
  sbagli.	
  
c) Tu	
  dici	
  che	
  io	
  sbaglierei.	
  

	
  
33)	
  Indicare	
  la	
  frase	
  corretta:	
  

a) Rispose	
  come	
  se	
  mi	
  avesse	
  riconosciuto.	
  
b) Rispose	
  come	
  se	
  mi	
  riconoscerebbe.	
  
c) Rispose	
  come	
  se	
  mi	
  abbia	
  riconosciuto.	
  

	
  
34)	
  La	
  perifrasi	
  è:	
  

a) Una	
  circonlocuzione.	
  
b) Un	
  rapporto	
  di	
  subordinazione.	
  
c) Un	
  parallelo.	
  

	
  
35)	
  Indicare	
  la	
  frase	
  corretta:	
  

a) Non	
  ci	
  saremmo	
  mai	
  permessi	
  a	
  contraddirlo.	
  
b) Non	
  ci	
  saremmo	
  mai	
  permessi	
  nel	
  contraddirlo.	
  
c) Non	
  ci	
  saremmo	
  mai	
  permessi	
  di	
  contraddirlo.	
  

	
  
36)	
  Un	
  verbo	
  transitivo	
  

a) È	
  sempre	
  alla	
  forma	
  passiva.	
  
b) Non	
  può	
  in	
  nessun	
  caso	
  avere	
  una	
  costruzione	
  passiva.	
  
c) Può	
  essere	
  alla	
  forma	
  attiva	
  o	
  passiva.	
  

	
  
37)	
  In	
  quali	
  di	
  questi	
  periodi	
  è	
  espressa	
  una	
  proposizione	
  causale:	
  

a) La	
  pratica	
  fu	
  affidata	
  all’impiegato	
  perché	
  la	
  istruisse.	
  
b) L’impiegato	
  è	
  stato	
  promosso	
  perché	
  ha	
  operato	
  con	
  zelo	
  e	
  puntualità.	
  
c) L’impiegato	
  ha	
  lavorato	
  fino	
  a	
  tarda	
  sera	
  finché	
  è	
  riuscito	
  a	
  istruire	
  tutte	
  le	
  

pratiche.	
  	
  



	
  
38)	
  Una	
  di	
  queste	
  frasi	
  è	
  sicuramente	
  errata:	
  

a) Prendi	
  il	
  latte	
  dal	
  frigorifero.	
  
b) Esci	
  il	
  burro	
  dal	
  frigorifero.	
  
c) Rimetti	
  lo	
  spumante	
  in	
  frigorifero.	
  

	
  
39)	
  “Il	
  percorso	
  per	
  via	
  aerea	
  è	
  il	
  più	
  rapido”.	
  Il	
  complemento	
  per	
  via	
  aerea	
  è:	
  

a) Di	
  causa.	
  
b) Di	
  mezzo.	
  
c) Di	
  tempo.	
  

	
  
40)	
  Quale	
  dei	
  seguenti	
  enunciati	
  è	
  grammaticalmente	
  corretto?	
  

a) Poiché	
  Antonio	
  non	
  è	
  venuto	
  alla	
  festa,	
  ho	
  pensato	
  di	
  telefonarlo.	
  
b) Poiché	
  Antonio	
  non	
  è	
  venuto	
  alla	
  festa,	
  ho	
  pensato	
  di	
  telefonargli.	
  
c) Poiché	
  Antonio	
  non	
  è	
  venuto	
  alla	
  festa,	
  ho	
  pensato	
  di	
  telefonarle.	
  


